


1- Résous l’équation 3 (x + 2) + 7 (x – 1) = 9 dans Z 

 

 

EXERCICES 

3 (x + 2) + 7 (x – 1) = 9 

3x + 3(2) + 7x + 7(-1) = 9 

3x + 6 + 7x – 7 = 9 

10x - 1 = 9 

10x = 9 + 1  

10x = 10 

X = 
𝟏𝟎

𝟏𝟎
 

X = 1 

⸪ 1 ∈ Z 

⸫ E.S = {1} 

 



2- Résous l’équation 3 (x + 2) + 7 (x – 1) = 12 dans Z 

 

 
3 (x + 2) + 7 (x – 1) = 12 

3x + 3(2) + 7x + 7(-1) = 12 

3x + 6 + 7x – 7 = 12 

10x - 1 = 12 

10x = 12 + 1  

10x = 13 

X = 
𝟏𝟑

𝟏𝟎
 

⸪ 
13

10
 ∉ Z 

⸫ E.S = {  } = Φ 

 



3- Résous l’équation 3 (2x – 3) – (2x + 2) = x – 3 dans Q 

 

 

3 (2x – 3) – (2x + 2) = x – 3  

3(2x) + 3(-3) - 2x - 2 = x - 3 

6x - 9 - 2x – 2 = x - 3 

4x - 11 = x - 3 

4x – x = -3 + 11 

3x = 8 

X = 
𝟖

𝟑
 

⸪ 
𝟖

𝟑
∈ Q 

⸫ E.S = { 
𝟖

𝟑
 } 



4- Si 7 (x - 2) + 2 (x - 3) = -2 Trouve la valeur de x² – 3  

 

 

 7 (x - 2) + 2 (x - 3) = -2  

7(x) + 7(-2) + 2(x) + 2(-3) = -2 

7x – 14 + 2x – 6 = -2 

9x – 20 = -2 

9x = -2 + 20 

9x = 18 

x = 
𝟏𝟖

𝟗
 

x = 2 

⸫ x² – 3 

= 2² - 3 

= 4 – 3 

= 1 


